

DR OYE LAMI

Olunwiyi Farwa Ololade

9th of May, 2020

Mechatronics Engineering

19/ENG05/052

①

$$\int \frac{(3x-1)}{(x-1)(x-2)(x-3)} dx$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

When $x=2$

$$3(2)-1 = B(2-1)(2-3)$$

$$6-1 = B(1)(-1)$$

$$5 = -B$$

$$B = -5$$

when $x=3$

$$3(3)-1 = C(2)(1)$$

$$9-1 = 2C$$

$$8 = 2C$$

$$C = 4$$

when $x=1$

$$3(1)-1 = A(-1)(-2)$$

$$2 = 2A$$

$$A = 1$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx + \int \frac{-5}{x-2} dx + \int \frac{4}{x-3} dx$$

$$= \ln|x-1| - 5 \ln|x-2| + 4 \ln|x-3| + C$$

$$dx + 2Bx + Cx + 2C$$

$$\textcircled{2} \int \frac{x^2 + x + 1}{(x+2)(x^2+1)} dx$$

$$\frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$x^2 + x + 1 = A(x^2+1) + (Bx+C)(x+2)$$

let $x = -2$

$$4 - 2 + 1 = A(4+1)$$

$$3 = 5A$$

$$A = \frac{3}{5}$$

Expansion of the R.H.S

$$Ax^2 + A + Bx^2 + 2Bx + Cx + 2C$$

$$Ax^2 + Bx^2 + 2Bx + Cx + A + 2C$$

Compare R.H.S to L.H.S

$$x^2(A+B) + (2B+C)x + A+2C$$

Compare R.H.S to L.H.S

$$A+B = 1 \quad \text{--- (i)}$$

$$2B+C = 1 \quad \text{--- (ii)}$$

$$A+2C = 1 \quad \text{--- (iii)}$$

Subst A into eqn (i)

$$\frac{3}{5} + B = 1$$

$$B = 1 - \frac{3}{5} = \frac{2}{5}$$

subst B into eqn (ii)

$$A + 2 \cdot \frac{2}{5} = 1$$

$$C = \frac{2}{5} \times \frac{1}{2} = \frac{1}{5}$$

$$2\left(\frac{2}{5}\right) + C = 1$$

$$\frac{4}{5} + C = 1$$

$$C = 1 - \frac{4}{5}$$

$$C = \frac{1}{5}$$

$$\int \frac{x^2 + x + 1}{(x+2)(x^2+1)} dx \rightarrow \frac{3}{5} \int \frac{dx}{x+2} + \frac{1}{5} \int \frac{2x+1}{x^2+1}$$

~~$$\frac{3}{5} \ln(x+2) + \frac{1}{5} (\tan^{-1} x)$$~~

~~$$\frac{3}{5} \ln(x+2) + \frac{2x}{5} \ln(x^2+1) + \frac{1}{5} (\tan^{-1} x) + C$$~~

$$\frac{3}{5} \int \frac{dx}{x+2} + \frac{1}{5} \left(\int \frac{2x}{x^2+1} dx + \int \frac{1}{x^2+1} dx \right)$$

$$\frac{3}{5} \ln(x+2) + \frac{1}{5} (\ln x^2 + 1) + \frac{1}{5} (\tan^{-1} x) + C$$

$$(3) \int \frac{(x^2+1)}{(x-3)(x-2)^2} dx$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{(x-2)} + \frac{C}{(x-2)^2}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A(x+2)^2 + B(x-3)(x-2) + C(x-3)}{(x-3)(x-2)^2}$$

$$x^2+1 = A(x+2)^2 + B(x-3)(x-2) + C(x-3)$$

$$x^2+1 = A(x^2+4x+4) + Bx^2 - 5Bx + 6B + Cx - 3C$$

$$x^2+1 = A(x^2+4x+4) + B(x^2-5x+6) + C(x-3)$$

$$x^2+1 = Ax^2+4Ax+4A+Bx^2-5Bx+6B+Cx-3C$$

$$x^2+1 = Ax^2+Bx^2+4Ax-5Bx+4A+6B-3C$$

A compare ~~firstly~~ let $x=3$

$$\cancel{A+B}^2 \quad 9+1 = 25A$$

$$A = \frac{10}{25}$$

$$x^2+1 = (A+B)x^2 + x(4A-5B+C) + 4A+6B-3C$$

Compare

$$A+B=1 \quad \text{--- (i)}$$

$$4A-5B+C=0 \quad \text{--- (ii)}$$

$$4A+6B-3C=1 \quad \text{--- (iii)}$$

eliminate eqn (ii) and (iii)

$$4A-5B+C=0$$

$$4A+6B-3C=1$$

$$B-2C=1$$

Subst A into eqn (i)

$$4 - 4B - 5B + C = 0 \quad \frac{10}{25} + B = 1$$

$$B = \frac{1 - \frac{2}{5}}{\frac{3}{5}}$$

$$B = \frac{3}{5}$$

Subst A and B into eqn (ii)

$$4 \times \frac{2}{5} - 5 \times \frac{3}{5} + C = 0$$

$$\frac{8}{5} - \frac{15}{5} + C = 0$$

$$A(x+2) + B(x-2)$$

$$\begin{array}{r} x^2 - 2x - 3x + 6 \\ x^2 - 5x + 6 \end{array}$$

$$Bx^2 - B5x + 6B$$

$$-\frac{7}{5} + C = 0$$

$$C = \frac{7}{5}$$

$$\int \frac{x^2 + 1}{(x-3)(x-2)^2} dx = \frac{2}{5} \int \frac{1}{x-3} dx + \frac{3}{5} \int \frac{1}{x-2} dx + \frac{7}{5} \int \frac{1}{(x-2)^2} dx$$

$$= \frac{2}{5} \ln|x-3| + \frac{3}{5} \ln|x-2| + \frac{7}{5} (x-2)^{-1} + C$$

(4)

$$\int \frac{x^3 + x^2 + x + 1}{x-1}$$

$$\begin{array}{r} x^2 + 2x + 3 \\ x-1 \overline{) x^3 + x^2 + x + 1} \\ \underline{x^3 + x^2} \\ 2x^2 + x + 1 \end{array}$$

$$\begin{array}{r} 2x^2 + x + 1 \\ \underline{2x^2 + 2x + 2} \\ -x - 1 \end{array}$$

$$\begin{array}{r} \frac{3}{x} + 1 \\ \underline{x + 3} \\ x + 1 \end{array}$$

34

$$Bx(x+2) + C(x+2)$$

$$Bx^2 + 2Bx + Cx + 2C$$

$$\int x^2 \ln x + \int 2x \ln x + \int 3 \ln x + \int \frac{24}{x-1} \ln x$$

$$\frac{x^3}{3} + x^2 + 3x + 4 \ln(x-1) + C$$